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5 channel shift register readin system
to implement in smallest S

AP

One of § input channels ;
2005 version

4} different number of bytes in each of
five serial input channels (eg 4, 8, 9)
(start mpx after longest one done)

5) 5 way mpx to send input buffers to
output buffer.

6) Serial shiftin at 1/2 MHZ , sending
clock out and reading bit in after delay
T} output at roughly 2 MHz using
handshake

Dec 20,
Flow nummd/ \\%
Buffe
[ 2 A wide >
Serial —— Tl deep ) |
dats Qq;"
shifted 3
" | Serial in Output Buffer _‘_;;, dats
| parallel oud uses handshaks
—-—‘9-; B bits |:§':— req=clock
e /I\ wal for ack % Py
sl - ack
o N -
B bits >
#la
Tirne
/ busy
d i
Trigger, e ————l—
counbers, |
last ,
e 2 state

_ machine

- . Questions ;

' 1) how much is done by local
hardware control, and how much
by a state machine?

&q,
Featiuras: a) stopping shifitin clock after 8
1) trigger input bits, transferring parallel 8 bits to
2) busy output buffer, starting serial input for
3) handshake mode output buffer another 8 bits, counting number of
(8 bit wide, reg=data clock, wait for bytes to quit
ik b) after longest input is done, start

mpx all 5 chan data to output buffer
at high clock rate to minimize dead
time

¢) when all input buf have bean
transferred to output buf, start
handshake, and control transfers
with handshake to keep rate at
roughly 2 MHz (maybe release
input busy signal during this 7)



